Solukwn 0 Exerase 8heek 6, Quieshion & V. Hothins

ek G be an offune ajg. gp ocking on an irredudble offre vaieky X.
Assume © Choar(R) =0 (bwms w im portank - se below).
S\g‘:pose that IS o G-inv. morplusm Lf: X =Y such that

W odim (U-4(X), 1) 72,
(D 3 USY st ¥V yel Yly cnkans a dosed orh ¥,
(yﬁ open

i) Y is o nomol reduoble  offu vandsy.
Pove Yok O(Y)= OOOX
Solution: By ©, 4 w dominank ond 3o @*: O4) = OCX) is inpchive .
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(ot ‘-Q-‘(LU:O\ onkains @ . dosed ofbk G-x, € G_:x: ) .

Oum Y fe O00%, 3 rakioral Wb Fe k(YD such thak @ <.
lPSCﬁ dowm: As UES Y i a dense open, k(u) @ k(4) ond so we
mwa, assume  J=U b PO b daim.

(onsider L:X — ANyY  ond Wk L=20
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and 193. (%) q, ' s o LﬂJCUh'V‘:-
-In dmamdMSb'C W, OLH# m)vﬁ.d'll.l'e dornlhanb mor-Phlgm Cﬁ lfrﬁdbla.h\-'-
vowiekies 8 birahomal  (for exomge, s Hmphcg'\s hanecy Ng Gps l{-é)

Hene, hese 15 o ralbonal inverse o g
h:M-->L.

tTktﬁ gf:: Pg\n . \1 ) L '-")/N W the r‘ec,uu'rtd b“ﬂ%
Nok : e Charackensht Wo  assumphon 0 needed, as wn Char. P >0,
e mop N =R s byedhie, buk the uverse & not rakional.

x > XP
We oppy e resulc menhoned wh e Wk ¢ for VM TN a dominank
morphism of rreducible odfint vonehes & he kRIN) s W'h e (M),
his defacd on any rormal powk of WM’
RPM oS o Q@ and ? ras Y & normal ({? s defined  on Q(X)°
By i dim(1-QW,MY) 72 ond a Y S nofma!,m 60y funchion extends

oW o codum L gap ('o.k.%,, Hartogys Thm). Hene § e OM) . 2



